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ECONOMICS 1. Answer the follwoing questions :
(Labour Economics) Freaferfer weft = s i
P pn) W (1) What do you understand by Dualism of

Labour Market ?

P : MAEC-07
apet 9H TR & gadle ¥ A9 N FHAd © 7

Time : 3 Hours | [ Maximum Marks : 80 (i) What is Marginal Worker ?
Note .— The question paper is divided into three Sections s O e i

A, B and C. Write answers as per the given

instructions. (i11) What do you understand by Labour Union ?
3y - T7 g e, ‘T SR ‘9 A wvel | fawfa sifteh W9 @ 9 M HHHA § 2

TE TUE & FRergER ye % sw (iv) Explain the role of cooperative agriculture in

Section-A 8x2=16 the prevention of unemployment.
(Very Short Answer Type Questions) I # Framor § weEw H w1 yfEE @

Note .— Answer all questions. As per the nature of the s Fifeu

question delimit your answer in one word, one

sentence or maximum up to 30 words. Each
question carries 2 marks. SETERE & T ¥ ?

(v) What is Informal Sector ?
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(vi) What do you mean by Minimum Wage ?

=[AaH TGl W TRt A § 2
(vii) Explain the meaning of Collective
Bargaining.
e dearst & 1w T Hifeg |
(viii) Mention any two causes of Child Labour in
India.
U H AT 9H % hiE &l HROT FaRU |
Section-B 4x8=32
(Short Answer Type Questions)
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
gug—d
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2. Why is the supply curve of labour sloping to the
left after a point ? Explain with the help of
diagrams.

97 H YA o Tk foag & IvE SR SR F g
B 7 7 YEfeel i gEEd | TR &

3. Explain with the help of a diagram the ‘Collective
Bargaining Model’ propounded by William
Flanner.
faferm w51 whawifea wrfes SRRl Aea’ i
Y@= &1 "o | T SIS |

4. Describe the various conditions for the success of
Collective Bargaining.
afes FRarst ® Gwer ®t fafy= vt w1 g
HIST |

5. Critically evaluate Lewis and Todaro’s model for

understanding rural to wurban migration in

developing countries.

faspraeiia <9 | I § IRl gad &l gHsH & fau
dfaq qon IeU & Hied H STCSAHE  Hodh

RIS |
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. Explain the wage systems propounded by Halsey
and Rowan with examples. Also compare them

with each other.

W TE UIA BRI Ufaded AOgy USiaEl Sl IR0
Hfed T HIGC| 9 & ITH WER AT R |

. Discuss the main characteristics of Agricultural

Labourers in India.

IRd H HY saffeht w1 g fowmast wi fad=mn s

. What has been the stand of the international labour

organization on labour relations and labour laws

in the context of India ? Explain.

IR & WeH H o9 FEHl Ud oH HI W AW
Y TS 1 T fhT YRR &1 W T ? T ST

. Write a short note on Women Labour in India.

arg # wfgen o W Efia feoh fafeaw)

Section—-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
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10. Mention the factors affecting the demand and
supply of lIabour in India. Why does imbalance
arise ?
IRa H 98 & A F gfd 1 gfed w3 9 @t e
SAET | STEqe F Sa= Bl § 2

11. Discuss the causes of unemployment and under-
employment in India and also suggest measures to
remove them.

IR H ISR T STEIUSFIR & RO &l fad=m
HIT T 3% R FH & A o Hemeu |
12. Critically examine the formation of Trade Unions

in India.

g H o Tl % ST R STErEAHE e
IS |
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13. What is the difference between the Consolation
System and Arbitration System ? Which of these
two systems 1is more useful considering the
circumstances of India ? Explain.

i a3k U9 hUd wt FeaRdl H R SRR
¥ 7 wra % TRfeRE B YER T 9§ e
e STfueh START § 7 T Sife |
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